
① −7 − 5

② 6 % (−7)

③ −
3
4
+
2
3

④ 0.5 % (−0.3)

⑤ 3x3x − 8 − 7x7x + 2

⑥ −48y48y48y %
5
6

⑦ 1818 %
7x7x − 2
6

⑧ 4(5x5x + 3) − 3(4x4x + 1)

⑨ 5x5x − 7 = 2x2x + 5

⑩ 7x7x + 5 = 9x9x − 1313

NO.1

① −3 + 9

② (−5656) + (−7)

③ −
2
3
−
1
2

④ −0.4 % 0.6

⑤ 8x8x − 5 + 3x3x + 1111

⑥ −15x15x15x +
5
7

⑦ 
5x5x + 3
3
% (−6)

⑧ 7(3x3x − 2) − 3(4x4x − 1)

⑨ 11x11x11x − 4 = 5x5x + 1414

⑩ x + 7 = 5x5x − 1313

NO.2

① −9 + 3

② −4848 + 8

③ −
2
3
−
3
5

④ 0.4 % (−0.6)

⑤ 7x7x − 3 + 5x5x + 1111

⑥ 12x12x12x + (−
4
5
)

⑦ 
3x3x − 7
4
% (−8)

⑧ 5(3x3x − 1) − 2(4x4x + 5)

⑨ 5x5x − 3 = 3x3x + 7

⑩ 8x8x + 3 = 3x3x − 1212

NO.3

① −3 − 7

② (−2424) + (−8)

③ −
1
2
+
2
3

④ (−0.5) % (−0.7)

⑤ 9x9x − 3 − 4x4x − 8

⑥ 30x30x30x % (−
7
6
)

⑦ −2424 %
3x3x + 2
8

⑧ 7(2x2x − 1) − 5(3x3x − 2)

⑨ 6x6x + 5 = 2x2x + 1313

⑩ 7x7x − 4 = 4x4x − 2525

NO.4

① −8 − 7

② 8 % (−7)

③ −
3
4
+
1
3

④ 0.7 % (−0.4)

⑤ 5x5x − 7 − 9x9x + 3

⑥ −49y49y49y %
3
7

⑦ 1616 %
5x5x − 3
4

⑧ 5(5x5x + 2) − 3(2x2x − 1)

⑨ 7x7x − 3 = 5x5x + 1111

⑩ 4x4x + 5 = 7x7x − 1616

NO.5

① −4 + 7

② (−3232) + (−8)

③ −
2
3
−
1
4

④ −0.8 % 0.6

⑤ 11x11x11x − 5 − 7x7x + 9

⑥ −9x9x +
3
7

⑦ 
7x7x + 1
4
% (−1212)

⑧ 5(3x3x − 1) − 3(2x2x − 3)

⑨ 10x10x10x − 1111 = 7x7x + 1010

⑩ 2x2x + 3 = 4x4x − 1111

NO.6

① −8 + 2

② −5656 + 8

③ −
1
2
−
2
5

④ 0.4 % (−0.9)

⑤ 3x3x − 5 + 9x9x + 1313

⑥ 12x12x12x + (−
6
7
)

⑦ 
2x2x − 4
3
% (−1515)

⑧ 5(5x5x − 2) − 3(4x4x + 2)

⑨ 6x6x − 1313 = x + 1212

⑩ 9x9x + 5 = 7x7x − 9

NO.7

① −5 − 9

② (−2424) + (−6)

③ −
1
4
+
2
3

④ (−0.4) % (−0.7)

⑤ 9x9x − 4 − 5x5x − 7

⑥ 42x42x42x % (−
3
7
)

⑦ −1818 %
5x5x + 7
6

⑧ 7(3x3x − 5) − 4(3x3x − 2)

⑨ 7x7x + 3 = 3x3x + 1919

⑩ 9x9x − 7 = 3x3x − 2525

NO.8

① −9 − 5

② 9 % (−6)

③ −
3
4
+
2
5

④ 0.8 % (−0.3)

⑤ 5x5x − 7 − 8x8x + 3

⑥ −40y40y40y %
3
8

⑦ 2424 %
5x5x − 3
6

⑧ 4(5x5x + 3) − 3(3x3x + 2)

⑨ 6x6x − 1111 = 2x2x + 5

⑩ 5x5x + 3 = 9x9x − 1313

NO.9

① −5 + 1111

② (−5454) + (−6)

③ −
2
5
−
1
2

④ −0.8 % 0.6

⑤ 8x8x − 6 + 5x5x + 1515

⑥ −25x25x25x +
5
7

⑦ 
5x5x + 1
4
% (−1212)

⑧ 7(3x3x − 2) − 5(2x2x − 1)

⑨ 10x10x10x − 7 = 4x4x + 1717

⑩ 2x2x + 8 = 5x5x − 1313

NO.10

① −8 + 2

② −4242 + 6

③ −
1
3
−
3
4

④ 0.8 % (−0.6)

⑤ 9x9x − 4 + 5x5x + 1313

⑥ 12x12x12x + (−
4
7
)

⑦ 
7x7x − 2
3
% (−9)

⑧ 5(4x4x − 3) − 2(7x7x + 5)

⑨ 7x7x − 3 = 5x5x + 9

⑩ 5x5x − 7 = 3x3x − 1313

NO.11

① −6 − 9

② (−7272) + (−8)

③ −
3
4
+
2
3

④ (−0.3) % (−0.7)

⑤ 11x11x11x − 7 − 4x4x − 8

⑥ 36x36x36x % (−
3
4
)

⑦ −3232 %
7x7x + 2
8

⑧ 5(2x2x − 3) − 3(2x2x − 1)

⑨ 5x5x + 5 = 2x2x + 1717

⑩ 9x9x − 4 = 4x4x − 3939

NO.12

① −6 − 5

② 9 % (−7)

③ −
3
5
+
2
3

④ 0.8 % (−0.4)

⑤ 7x7x − 5 − 9x9x + 3

⑥ −28y28y28y %
3
7

⑦ 2020 %
5x5x − 1
5

⑧ 5(3x3x + 1) − 3(x − 2)

⑨ 6x6x − 3 = x + 1717

⑩ 4x4x + 8 = 7x7x − 7

NO.13

① −7 + 8

② (−5656) + (−7)

③ −
2
3
−
1
4

④ −0.8 % 0.9

⑤ 13x13x13x − 9 − 8x8x + 2

⑥ −9x9x +
3
5

⑦ 
5x5x + 7
6
% (−1818)

⑧ 5(3x3x − 2) − 4(2x2x − 3)

⑨ 11x11x11x − 1010 = 8x8x + 1111

⑩ x + 4 = 7x7x − 1414

NO.14

毎日練習　（１年　計算・方程式）　　①～⑧は計算、⑨⑩は方程式。


